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The candidates shall limit their answers precisely within the 
answer-book (40 pages) issued to them and no supplementary/ 
continuation sheet will be issued.
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Note: Attempt six questions in all. Question No. 1 is 
compulsory having 10 short answer questions. Each 
short answer question is to be answered in about 50 
words and carries 2 marks. Attempt the remaining five 
questions selecting one question from each unit carrying 

12 marks for regular and 16 marks for Private students.
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Compulsory Question 
(31Pl«ll4 tot)

1. Attempt all short answer questions :

(a) What do you mean by Industrial economics?

(b) What is meant by Industrialization?

(c) What do you mean by Pricing policy?

(d) Distinguish between Joint products and By products.

(e) What is meant by Industrial concentration?

(f) Define the term Diversification.

(g) Define Capital market.

(h) What is the most important component of public 
policy?

(i) What do you mean by multinational company?

(j) Differentiate between large and small scale industry.

TOf :

3 3TTWT W 3TfaTO f?
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(^) fWw riri ri anwr w arfHOT i?

(v) RforT 3?rrri rik Beqiri ri rifa 3fo tw 
rilfani

(^) afoftfw riri^ ri w cITcfo t?

(^)ririririRnr rit qffoirid foil
(^)^jri fo Mft*nrid fol

(^0 «i4«iri* riri ^>T ^iri H^njyf w t?

(30 3TTWI W srfmfH t?

W afa fori ri ^fri ri ri^ 3rr ritrir^i

UNIT-I 
(W-I)

2. Describe the pattern and phases of industrial growth and 
changes in industrial structure.

riMfw friFRi afo afoWfi fo^rr ri m(Wh ri 

riti ^rri ^ri ritriiRi

3. Explain how industrialization helps in bringing economic 
development in a developing country like India.

qror fo teravfrir for ri snf’fo? tew ^ri ri
3fo)0l*<u| cftim t, ww rilfaRi
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UNIT-II

(^-11)

4. What do you understand by Bain's limit pricing model? 

What are the barriers to entry analyzed by Bain in 

determining of limit pricing? Explain.

3 3fTC W f ?

W fl WW Rftf^l

5. What are the various types of investment decisions? Explain 

conventional and modem approaches in detail.

tWl farf^FT WK W f? sfl

STT^fW faRTR 3 WW

UNIT-III

(iM-ni)

6. What is meant by structure-conduct-performance model? 

What is the interrelationship between market structure, 

conduct and performance?

RTScf 3 W f ? ^R-TR^HT,

3^ Tjc^fa cRTT f ?
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7. Explain all the concepts of Industrial concentration. 
What are the extent, causes and likely effects of 
concentration? How can industrial concentration be 
measured?

q,=hiudi faRfR, w w

i? shitfw n*iiidi rhi w t?

UNIT-IV
(^nf-iv)

8. Describe the sources of industrial finance and role of these 
institutions in India's industrial development.

3<Wl4> f^xT 3^ W flWlch fWTF 3

9. Explain the Sargent Florance theory of Location. How is it 
an improvement over the Weber's theory?

UNIT-V 
(wl-v)

10. What are the main reasons behind the establishment of public 
and joint sector in India? What are the causes and impact of 
industrial sickness in Indian economy?
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HRa 3 wafafa* ah hpa ah wn
TOJT W t? HRtfh 3Tsfsq^W 3 sMPh> 

WH ^RUT 3ffk ¥RRT W t?

11. What are the phases of industrial growth and major changes 
in the industrial structure during the planning period in India? 

HRcT 3Rrf«r <*lWl=h fWu xRUT

3lk afcllftw RT^TT WIF? w I’?
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